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Fig. 8. Comparison of the short time behavior with the effects of clustered sampling.
The result for multiple samples on the same site p(T ) = p0 − c log(T/T0) is shown as
a solid line (for the full sample) and dashed line (for the subsample from California);
the dotted line shows the spatial simulation as in Fig. 2 in the main text. Experimental
data for the full sample is shown as circles, that for the California subset is shown as
stars. The clustered sampling result is in approximate agreement with the experimental
results for short times. The spatial simulation is in agreement over all times.
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